C HIC, C HJIC, CHIC,
Mapra Pyl Mapra il Mapra Tyl

TI»n 5x2x0.4 10,55 [T I>n3 5x2x0.4 10,61 [ TIInn3I1 100x2x0.4 127,46

T am 10%x2x0.4 16,65 |TIT>n3 10x2x0.4 17.63| | TTInn3T1 200x%2x0.4 282,91

TTITam 20x2x0.4 29 44| |'TIT T>n3 20x2x0.4 31,71 [ TTnn311 300x2x0.4 414,77

TTI Tam 30x2x0.4 41,23 | T T>n3 30x2x0.4 46,43 | TTTnn3I1 400x2x0.4 551,62

T Tam 50x2x0.4 67,84 | TI =03 50x2x0.4 73, 16| | TTInn3I1 500x2x0.4 684,51

TT an 100x2x0.4 130,51 | TTI I>n3 100x2x0.4 139,91 | TTTnn311 600x2x0.4 816,07

TIanm 150x%2x0.4 182.24| |'TT =03 150x2x0.4 191,76 | TTInn3I1 10x2x0.5 2748

TTI Isn 200x2x0.4 243 77| [TTIT Tan3 200x2x0.4 250,69 |TTInn3T1 20x2x0.5 49 21

T =m 300x2x0.4 354 18| [TTI Tan3 300x2x0.4 375,33 | TTInn311 30x2x0.5 70,12

TT T=n 400x2x0.4 464, 3| | TTH an3 400x2x0.4 489,88 | TTInn311 50x2x0.5 110,81

TI an 500x2x0.4 57441 | TT T>n3 500x2x0.4 60741 | TITnn311 100x2x0.5 220,19

T an 600x2x0.4 691,71 [TTI Tan3 600x2x0.4 71548 | TTInn311 200x2x0.5 425,35

T Isn 700x2x0.4 816,17 [TTIT Tan3 700x2x0.4 828, 8] | TTInn3I1 300x2x0.5 634,31

TIIT=n 900x2x0.4 1034, 36| [TTII Isn3 800x2x0.4 941,13 | TTInn31T 400x2x0.5 834,25

TITam 1200x2x0.4 1364. 75| | TTIT T>n3 900x2x0.4 133133 | TTInn3I1 600x2x0.5 123395

TIII5nm 5x2x0.5 14] [ TTI Tan3 1000x2x0 .4 1473 44 | TTInn3I1 5x2x0.5 16,95

TT Iam 10x2x0.5 23,59| | TI Tan3 1200x2x0.4 1 780,55 | TInn3I 300x2x0.5 1035,83

TIT=m 20%2x0.5 43.65] |TIIII>n3 5x2x0.5 14,04

TIT2m 30x2x0.5 63,18| | TIII>n3 10x2x0.5 24.89

TIIIan 50%2x0.5 101,83 | T I>n3 20x2x0.5 46,37

TITan 100x2x0.5 198,57 | TTI T>n3 30x2x0.5 65,5

TITam 150x2x0.5 277.54] [TTI Tan3 50x2x0.5 106.9

TIIT=m 200x%2x0.5 364.23] | TT=n3 100x2x0.5 205,41

TIIan 300x2x0.5 539.17] |TIII>n3 150x2x0.5 280,54

TIITan 400x2x0.5 701.31] | TIITI>n3 200x2x0.5 37777

TT Ian 500x2x0.5 881, 78] [TIIan3 300x2x0.5 5622

TII =m 600x2x0.5 104029 [TTI 203 400x2x0.5 734.69

TI=n 700x2x0.5 1236.31] | TII Isn3 500x2x0.5 011,74

TTI an 800x%2x0.5 1402, 79 | TTI I>n3 600x2x0.5 1085,27

TIAm Q00x2x0, 5 1583,65| [TTITIan3 700x2x0.5 124936

TTIT Tam 1000%2%0.5 1902.28] | TTIT Tan3 800x2x0.5 1411,23

TIT=m 1200x2x0.5 223747 | TTI>n3 900x2x0.5 1602,72

TI anm 5x2x0.64 18,88 | TTIT Ian3 1000x2x0.5 1851.91

TT Tam 10%2x0.64 33.66| [TTITI>n3 1200x2x0.5 2466,89

TIHIan 20x2x0.64 64,74 I'TTH [2n3 5x2x0.64 19,17

TI Tam 30x2x0.64 02.66||TIII=n3 10x2x0.64 34.51

T am 50x2x0.64 154,23 | TTI =203 20x2x0.64 66,47

TT an 100x2x0.64 302,45 [TTIT Ian3 30x2x0.64 342

TI an 200x2x0.64 589.26] | TTIII=2n3 50x2x0.64 151,94

TTH Tan 300x2x0.64 868,52 | TTH T2n3 100x2x0. 64 303,35

TTI Tam 400x2x0.64 1140.05] | TTIT =03 200x2x0.64 598.5

TTTan 500x2x0.64 141883 | TTIT Tan3 300x2x0.64 879,19

TTTan 700x2x0.64 1985.6| | T I>n3 900x2x0.64 260796

TT an 800x2x0.64 2254.63| [TTIIan3 5x2x0.7 227

TIITanm 900x2x0.64 252697 [TTITI=>n3 20x2x0.7 45,39

TIIsnm 5x2x0.7 22,62 ' TIII=>n3 30x2x0.7 66,9

TITsnm 10%2x0.7 40.98] | TIIII>n3 50x2x0.7 112,34

TIITan 20x2x0.7 76,05 | TT I2n3 100x2x0.7 2164

TIIIan 30x2x0.7 109 5] | TTT Tan3 200x2x0.7 730,53

TIIT=m 50x2x0.7 182,96| | TTIII=n3 300x2x0.7 1071,85

TITsn 100%2x0.7 361.94

TIIan 200x2x0.7

696,99




